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Initial estimates for x, and P, <correct>

|

<predict>

(1) Compute the Kalman gain
K, =P, H (HP,H +R)"

(2) Update estimate with measurement z,

(1) Project the state ahead
x, =Ax, , +Bu,

(2) Project the error covariance ahead

x, =X, +K,(z, —Hx))

(3) Update the error covariance

P, =AP,_A"+Q

Initialize

FHELIS dEis X2 FZolotrt.

o O — O
o — O O
O O O

P.'.- = PI: _Kka.-Pf:




Predict 1}%d
System Model
SEfHS(FEL e bl&2 L 2L

A7) O)2 YHAS Euler YHOR SRIMN XL ChET 2t

Ol7|M Q,= XMO|Z MMM ZFE Z4LHz0f mat BHots BZO|CH

0 , 0, O

o - —0, 0 o o
e -o, 0 o
-0, -0, -0, 0

Aot By= Al RO Zf Hx0f TS X H|QHO|CE

A 2 Xy _ | +19wAt
OX, 2
noo-E &
Bk a anJrl E &; n —& At
oo, 2|-¢, & n
—& —& &
predict

SEE I FEHU A7 20 ALY ZHS MESHA| F1 HELS & ¢

HEiH+=E YOlo|E oot
o AQ
K =P+ B

X, =X * Qo At, 0,At, w,At)




P = Ak—lpk—lA-IE—l + Bk—lQBLl
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Update 1}7d
Error measurement
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%, = Q(IK, [ 4..ng) * X,

Pk = (l - Kka)Pk_
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q=Q(A)=Q,)*Q,(6)*Q,(¢)
cos(y /2)cos(6/2)sin(p/2) —sin(y /2)sin(6/2)cos(¢/2)
_ cos(y/2)sin(0/2)cos(p/2) +sin(y /2)cos(6/2)sin(p/2)

sin(w/2)cos(8/2)cos(¢/2) —cos(y/2)sin(O0/2)sin(¢/2)
sin(w/2)sin(8/2)sin(/2) + cos(y /2)cos(8/2)cos(¢/2)
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Q,(w) ={0,0.sin(y / 2), cos(y / 2)},
Q,(8) ={0,sin(@/2),0,cos(8/2)},

Q,(¢) ={sin(¢/2),0,0,cos(¢/ 2)}.
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